10 ¢ Fil Gl e 4 fi fi]

SRR @ g | O | 2R | 4~6E | 68K | 8~ 10K | 10~ 128

JE TE " A Al A At AR ATt
FZELHRBE(XBEFBZKR ) 614,231 14,845 8,988 6,192 1,473 14,079 28,457
X = L 4,444 401 294 229 148 171 209
24 A 929 77 53 49 52 55 61
£ A 867 72 51 49 51 53 58
L Uil ¢4 17 0 0 0 0 1 0
P B i 25 2 2 0 1 0 3
A g B 2 20 3 0 0 0 1 0
G 143 1,397 159 120 85 43 68 89
i 17 B A 16 0 0 1 2 1 0
i 17 & A 585 71 39 32 13 32 41
G T 43 5 1 1 2 0 0
GO T 753 83 80 51 26 35 48
J S 786 87 60 59 36 44 39
S 1,332 78 61 36 17 10 20
8 = L o1, 829 4,508 2,718 1, 754 2,212 3, 251 3,815
P A 5 2 3 0 0 0 0
5% 17 27,637  2,212| 1,291 846 1,217| 1,935 2,311
% = 18,963 2,028 1,348 811 844 1,045 1,174
OB E & K 1 8 3 1 2 4 3
i in 3,718 202 111 81 131 223 282
2 g 1, 446 64 25 16 20 48 48
2 = L 417, 291 4,839 3, 154 2,521 3,403 1,988 20,310
= A % 44,093 485 614 308 155 247 247
- U ) 13 135, 025 973 440 216 239 398 755
I & A Wl  238,173| 3,381 2,100 1,997 3,009| 7,343 19,308
p I i3 L 34, 065 121 172 128 148 4871 1,228
B 1% 30, 468 511 140 108 116 391 1,056
i fH 1,388 72 5 8 7 27 36
i fH 588 35 3 7 5 19 25
¥ ¥ Lt B # 800 37 2 1 2 8 11
1% it 2,090 130 26 11 23 67 136
Sob)il 1 A i 217 7 3 2 1 6 13
Sb) . #E A & 1,431 114 19 6 21 52 95
L) XM — K& 155 1 0 0 0 6 6
SH) A M GE KA 235 6 2 1 0 3 16
15 ek 57 6 1 1 2 2 0
5b) #i ik 32 6 0 0 0 0 0
b o B ARG Rk 0 0 0 0 0 0 0
i 1T 62 2 0 0 0 0 0
3 @ L 1,123 115 298 205 324 397 367
i it 118 7 0 2 0 0 6
b A & e 7, 605 708 298 203 324 397 361
SB)ER Hl b v E D 4,154 468 182 130 111 124 118
SBL) A K b W E D 2,463 160 90 57 174 221 164
£ O o o # OE L 98, 879 3, 661 2,292 1,355 1,238 1,779 2,528
Sb) b A HE B W B 14,154 1,288 517 224 326 461 706
SHb) K B AT W E 2,118 245 151 110 78 164 233
SHYE B B’ A 11,021 729 669 351 244 325 510
S5b) s il B 265 13 9 3 3 7 5
SH) s W - N & H 337 8 5 2 5 11 12
b)) % i & 875 73 18 14 16 25 36
Sb)# W HO# % 64.089] 1,017 784 542 431 493 706




H Al . gl & %%
12~ 141 | 14~160F | 16~188 | 18~200 | 20~220% | 22~241% =B FZEWFIRTA

A A A A At At A
27,940( 28,091 28,940 24,045 16,574 13,909| 394, 698|FI;EL L (X BEE B F K <)
213 234 271 259 307 347 1,355 X = L
49 56 66 63 91 76 181 * A
49 54 62 59 84 71 154 % A
0 0 2 0 1 0 13 2 Ve #*
0 2 1 4 3 2 5 % ¥ fisi
0 0 1 0 3 3 9 H % £ 5.
92 91 103 115 112 130 190 Gin %
0 0 1 1 1 1 8 Gin % % N
39 37 43 50 49 60 79 Gin % & N
2 1 0 0 1 1 29 GRS O v
51 53 59 64 61 68 74 oW - W IR
41 44 58 48 64 78 128 Jix K
31 43 44 33 40 63 856 G il a3 = %
3, 606 3,937 4,554 5,375 5, 452 5, 396 5191 # e L
0 0 0 0 0 0 0 K 2w % W £ &
2,183 2,339 2,822 3, 243 3,172 2,945 1,121 P 17
1,063 1,217 1, 330 1,692 1, 855 2,104 2, 452 & =
4 1 3 5 2 4 31 ab) s E O % M
297 311 326 354 334 271 855 & B
63 70 76 86 91 76 763 HL gy
19,841 19,473| 19,316| 14,193 6, 893 4,214 291,146 %3 = L
298 226 211 258 226 239| 40,579 15 A S
804 912 1, 156 1,177 815 613| 126,527 53 0 Y %
18,739 18,335| 17,949 12,758 5, 852 3,362| 124,040 I (53 A w
1,354 1,227 1,215 885 580 339| 25,581 40 BE L
1, 157 1,035 1,015 746 475 281 23,437 F *
29 34 31 33 26 16 1, 064 i T
16 22 25 28 17 9 377 i 7H
13 12 6 5 9 7 687 ¥ % Lk M M@
167 155 166 105 79 40 985 % i&
11 7 8 11 8 4 136 ob)E B B &
110 86 70 37 39 32 750 2b)x EOE &
16 19 45 31 14 0 17 IL) XA B — NiEiE
27 38 38 25 13 3 63 2Bb) A i RE K A &
1 3 3 1 0 2 35 5 Tk
0 0 0 1 0 1 24 ) B it
0 0 0 0 0 0 0 b o AR B L EIE
0 0 0 0 0 0 60 G 1T
437 599 750 631 695 762 1,543 R 1B L
4 1 1 3 10 14 70 i i
433 598 749 628 685 748 1,473 o A + >
160 236 324 328 403 480 1, 090 PRSI S| I SENANE : dlbe)
207 300 365 258 217 180 70 PRSYE/NEE ‘I SEIANE Sl
2,489 2,621 2,834 2,702 2, 647 2,851 69,8821 & » #h o FH E I
819 770 860 797 663 696 6, 027 2b) b A OBE B 4 B E
164 204 196 153 157 214 49 IB)A B O AT W E
448 476 474 528 637 657 4,973 2 H) fE JE & A
4 4 7 13 5 8 184 ) H) @ i B 3
9 17 21 14 9 15 209 PRSYN B N =G =
64 61 83 66 53 58 308 I H) % i &%
667 793 878 878 877 1,002] 55,021 PRS-




11 CR S = R il ¥ A&

FEAEIRRI o g | O2WF | 2~am | a~6EE | 6~8EF | 8~10F | 10~128F

ENe b ESi] ESi] ESi] ESi] ESi] ESi]
% &= #“® # 417, 291 4,839 3,154 2,521 3,403 7,988 20,310
= A & 44,093 485 614 308 155 247 247
2 & L3 13, 906 32 12 8 21 55 89
2 1A I 5,937 115 164 80 6 0 2
J& z= & 1,187 1 1 3 16 33 46
AT M Y Ji 0 0 0 0 0 0
& WO v 908 26 38 20 10 4 3
ik #E 5 L 149 6 10 2 2 2 1
B A F iL 99 2 0 1 0 0 2
E S A 464 10 8 2 2 3 3
™ Bt R L 462 9 7 2 1 1 2
f o T SR oL 99 3 4 0 1 0 0
=B O R L 3,766 37 67 16 16 35 12
mooJE R L 5, 397 117 227 114 46 30 17
T % 7w L 404 3 5 0 3 18 2
oK = R OL 442 3 1 0 1 7 7
B OB i L 3,669 50 28 29 9 25 22
e D 1t 7,197 71 42 31 21 34 39
®F Y B B 135, 025 973 440 216 239 398 755
H # # & 5,210 93 69 30 22 16 36
F = b N A& 9,018 38 38 34 5 18 27
S 120, 797 842 333 152 212 364 692
¥ B A B 238,173 3, 381 2,100 1,997 3,009 7,343 19,308
ik W 1.3 2,837 7 3 0 0 11 248
B e 1.3 2 0 0 0 0 0 0
B oM L & 20 0 2 1 0 0 3
H v 1.3 506 22 21 14 10 22 49
il i 1.3 1,087 18 3 0 4 8 66
EAN H 1.3 8,970 597 50 53 215 1, 027 798
ATM#AbH W 1 1 0 0 0 0 0
0 h bW 4 0 0 0 0 0 0
b2 LI AW S 10 0 0 0 0 2 3
£ N 2 b W 503 6 3 3 6 8 9
®E E h b W 122 1 0 1 2 1 6
BOE Rk bW 373 0 2 0 1 3 5
[O =T SRR 877 99 30 24 29 30 82
7 UJ 1,424 85 93 46 44 76 70
[ 5l & 12,773 180 117 91 205 464 1,077
OHE 2 22 5 W 2,357 96 59 70 44 13 12
HoE kB W 217,978 242 191 132 153 382 797
o a5 13, 453 31 32 14 10 25 44
il & % b5 v 1, 321 7 6 4 8 5 28
H &k e iaa & v 3,321 36 39 25 7 6 12
(AT I AN SR 6, 428 82 47 48 37 67 153
LTEHEHHQL W 3,819 11 7 12 9 12 8
s 5l & 87, 280 1, 144 881 843 1, 485 3,757 12,997
B % 2 b v 6,670 63 41 42 56 103 102
[l B R 6 W 564 4 2 0 1 3 6
S W E R LW 3,189 87 56 51 48 50 74
= o | 52284 562 415 523 635] 1.268] 2 659




1 il ER 1 f: #
12~ L4WF | 14~ 1685 | 16~ 18K | 18~200F | 20~220F | 22~24K5 | . FERF

S S S S S ES Ee
19,841 19,4731 19,316] 14,193 6, 893 4 214 291, 1463 = @ o4
298 226 211 258 226 239 40,579 & A B
118 54 60 65 42 20 13, 330 ze = B
1 3 0 0 10 33 5,523 P 1A s
55 46 32 45 42 16 851 JE 7g =
0 0 0 0 1 0 6 A T M W v
2 1 0 3 2 3 796 4 OB b
0 0 2 3 0 3 118 biiid % L
3 0 0 3 0 1 87 BN B R L
3 3 8 7 5 5 405 ¥R W L
3 1 1 0 5 1 429 I A
0 0 0 0 1 1 89 WO OPFT %L
11 2 15 24 23 27 3, 481 =K OPFT i L
15 19 20 12 16 44 4,720 H JF % L
6 1 1 2 1 5 357 T % 3% L
3 4 7 5 11 0 393 oAk E R OL
23 11 21 45 33 42 3, 331 B FE L
55 81 44 44 34 38 6, 663 * D f
804 912 1, 156 1,177 815 613 126,527 = Y R
29 23 20 28 35 33 4,776 H ®# H %
31 39 41 46 47 25 8, 629 A — b N A4 K
744 850 1, 095 1, 103 733 555 113, 122 H #x #H &
18,739 18,335 17,949 12,758 5,852 3, 362 124,040 3k & A &
295 287 190 64 3 1 1, 728 Tk M 129
0 0 0 0 0 0 2 B B§] 129
2 2 1 1 1 0 7 B O H L %
53 49 61 49 34 20 102 = L7 129
83 80 41 13 3 3 765 B | 129
1,611 1, 561 1, 196 728 232 48 854 A Hi 129
0 0 0 0 0 0 0 ATM#BBH W
1 0 0 1 0 0 2 SO I o RS A
1 2 1 0 1 0 0 w R Rk 5 W
5 12 16 5 2 7 421 E N A 5 W
1 2 0 2 1 0 105 % = b W
3 7 2 3 0 0 347 W OE kbW
56 81 81 108 131 116 10 O - 7= < b
72 76 62 99 47 70 584 kR U]
1, 182 1,225 1,224 949 626 339 5, 094 = 51 =
7 12 13 13 21 85 1,912 ) e & 2 b W»
649 709 819 711 375 228 22, 590 = R N S S A
45 40 43 47 36 37 13, 049 ST A T SR A
36 45 58 61 52 27 984 & % ks n
15 15 16 13 18 22 3, 097 SO YRS
170 124 71 51 67 06 5, 445 B oF k5 »
16 11 7 6 8 16 3, 696 TEHELH R LW
11, 752 11, 064 11, 323 7, 652 2,624 1, 263 20, 495 Vil 5 =
98 100 110 115 91 95 5, 654 W % 5w
5 6 7 4 4 1 521 F B k5 W
84 75 62 58 69 45 2,430 W E R H W
2,497 2, 750 2,545 2,005 1, 406 873 34, 146 * D i




